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Percentage Recap

Percentage change & Reverse percentages

Repeated percentage change & depreciation

Simple & Compound Interest

Bank Statements and Financial Maths




What do I need fo be able o do?

You should be able to:

* Find percentages of amounts
Increase or decrease by a percentage
Find percentage change

Find the original amount

Express one number as a fraction of
another

Increase or decrease using mulfipliers
Work with simple interest

Work with compound inferest

Percentage of an Amount

300 shared info 10
equal parts (300 - 10)

300
o FEEPR R

51007 of 300 = 300
107 of 300 = 30

100/ of 480 = 430
10/ of 480 = 43

. 107 of 240 - 24 17 of 430 = 48

307 of 240- 12 100/ of 480 - 480

107 of 480 - 43
80/ of 480 - 384

|
l
. 1007 of 240+ 240,
I
i
|

I A bar model fo help visualise it

1 thon U8 Awoys makse sure oo look back of our
1 onswer and make sure it makes sense '

: |a]a]n [T [T [2]=]~] \B\g/neecll?omﬂ/k\?
1 24x3-12 Findng 10/ 15 = "
: s ot | 817 of 480 - 3383 !
T
. Per oenToqe Chonqe Difference in value <[00 :
: Original value :
1 myy!
\ I bought a phone for £200 | bought a house for =" !
| Ateor loter it sold for. E‘ : : £180,000. [ sold if for :
1 £125 What was the 7 £ i £216,000. What was the
| loss? I 7 profit? !
! Profit !
! £200 | | o el
! £180,000 !
! £125 | ) : !
: ' Amount lost I £216,000 j :
1 ' Profit = £216000 - £180,000 1
X - | - £36,000 .
| 200X 100 =315/ | 36000 B |
! | 160000 X 100-20£
1 I 1
I S e S F U LN |
R e | T T T T T =T = ===- 1
* Finding the Original = A pair of shoes are on !
: 607 of a number is 48 I sale fo_y 87'5/ off. The X
i Whatis the number? | sde price s £4950, how |
| I much did they cost g 1
I 607 of x = 48 | orignoly? X
i 07 of x =8 | |
11007 of x- 80 | |
I ]
1
: Abar model fo hep visualse it~ | :
1
| EOBEEEREEE | 1257 ofx-£u9s0) !
I 4g 257 of x = £99 :
: As  quick sense check, our answer shouid be BEGER I 'OO/ Of X —L 396 :
I
1

* Smple Inferest: inferest caloy

the previous inferest
* Multiplier: the number that
* Increase: make bigger
* Decrease: make smaller

| il

37 out of 50 people in a class are Manchester

®

United fans What percentage of the class
support Manchester United?

Y
5-6%-74/

] Equivalent fractions

1

1

I

1

1

1

| ! speed up the process
Method | | Method 2 1150/ shaf of 100/ To find 50/ of something, we can
' 12/ increase means I Weneedto find [2/ 1) dueita?
1 we have 127 of the I of £400 : : 25/ 15 a quarter of 100/ To find 25/ of something
| origna prce So WE 1 (100 of £400 - £400 I R
! are now finding 1127 | |10 0f £400- £40 : 110715 one fenth of 100/ Jo find 10/ of something, we
| of £U00 | 2/ of £400-£8 | 1 1 gandvie by 0
1 ' 1!
. = L}
: :g(}/ gzjggo Eﬁgoo I 127 of £400 = £Ug : : \f/O/ca'rS)O?/?d:TTTT)OF 1007. To find 20/ of something
|2/ o £400- 3 | S ¥ 007
' We are increasing by ) 0, 1 50,
1127 of £400 - | 127,50 addng 127 on Y bl l%ﬁ?ﬁ”i??gé Pl £ 2 P
1 £4yg | £400 + £48 = £448 1! isi sharr 25/ AT
R A N -y
b T ——— = =~ ™ e T
1 Expressing One Number as a 1 Multipliers |
1 Percentage of Another ' What mulfipler woid | What muliplier wold
i 11 represent an represent an decrease
: Express 12 as a percentage of 20 11 Increase of 1577 | of 1577
i

1
| L. @ . 0/ ¥ We are findng 100/ : We are findng 1007 -
! 20 100 1 157,50 1157 57,50 857.
1 Equivalent fractions : : I - .
| —— e i1 Asadecimal thisis | As a decimal this is
i Y | 985
!
1
1
I
1
1
I

1 Iput £1000 in @ bank account It earns simple
inferest of 10/ per year. How much wil be in
the account after 5 years? LT
0§
‘4‘5-,‘._;'

INTEREST:

Smpie inferest means we caicuiate the inferest
the ntial amount wit earn and odd that omount
on each year

107 of £1000 = £100
So each year, the Dt
account wil gain £ 100

inferest £1000 + (£100 x 5)

_______________________

* Percent: parts per hundred

lafed as a percent of the original amount

* Gompound Inferest: inferest caculated on the amount borrowed plus

you are mulfiplying by

Helpful Percentages

between some percentages to help

Compound Interest

I'put £1000 in a bank account It earns
compound inferest of 107 per year. How much
1 : wil be in the account after 5 years?

P HINTEREST:

Compound inferest means we work out the inferest each year
and the orignal amount plus any inferest in the account

107 of £1000 = £100.

So after year 1, the account wil have £1100.
= 107 of £1100 = £110

So after year 2, the amount is £ 1210 ete

If we are increasing by 10/ each time, this is
the same as finding 1107 of the amount, or
mulfiplying by 11 (see multipliers) So anothey
way we can work this out Is:

£1000x HIx [Ix Lx [x 11

Itis helpful to remember the relationships



YEAR 9 — REASONING WITH NUMBER. ..
Maths & Money

@vwhisto_maths

| What do | need to be able

I
| to do? Credt: money being placed into a bark account
I e Debit: money that leaves a bank accourt
By the end of this unit you should be able to: _
+ Solve problems with bl and bark Balance: the. amount of money n a bark account
statements

Depostt: an inttial payment (often a way of securing an item you wil later pay for)

* Cakulate smple nterest
Multiplier: & number you are multiplyng by (Muttipler more than | = incredsing, less than | = decredsing)

|
|
|
: *  Calulate compound nterest
|
|
|

I

I

!

I

I

I

Expense: a cost/ outgong :
I

I

* Caculate wages and taxes |
I

I

I

Cost per Unlt

number of units

+ Solve problems with exchange. rates Currency: the type of money a country uses
 Solve unt pricing probems Unitary: one — the cost of one.
[ R S IRy S SRS Sy S—— I e e e e e e e e e e . —— —— —— — i — — — —— — —— — — — — — — -
IBa e pis y m s met tps = N oee et S g T A R T R T P P -
| Bils and Bark Statements | |Smpl nterest Forey 50 |
| Bils —tell you the amourtt tems cost and can show how I For each year of nvestmert the interest remains the same 250 :
: much money g e 1o pat Meny Price : | Principal amount xInterest Rate x YearN I
| Some can include a total | : 100 150~y |
| Look for dfferent unts Mk 8% I | Prrcipal amount s the amount invested i the account 100 :
I (sitinpence or pounds) | Tey £1.50 I'] eg lvest £100 at 30/ simpke nterest for 4 years 50 H I
: : : 100x30%4 _ o0 This account earned £12.0 interest o LLI |
Bank Statements 100 = Ot the end of year 4 they have £220 0 1 2 3 Ayl
| | e e e o e T i s [ 1o, ey e i i ]
| Bark statement can have negative balances if the money ___"____"____"___"_M _________ -
| spent is higher than the money coming into the account Compaﬂd interest 300 — :
: | l Interest is added to the current valve of nvestmert at the 250 I
| Date | Descripton | Credt | Debit | Badnce | : end of each year so the next year’s interest is greater 260 1|
) I
I gpl Salary &1500 K500 : | Principal amount x MultiplierY€ars 150 I
' |
- 100
: g:m Mortgage £60D S : : eg nvest £100 at 307 compound interest for 4 years . |
| " | | 100 x 1.3* = £285.61 This account has £285.61 in total '
| z | sty |19 Sl at he end of the 4 uears T 2 s Ayl
___________________ T T o L P NN s Pl
____________ kg e e
I Vale Odded Tax (VOT) : | Wages and Taxes | | Exchange Rates I
| | : Salaries fall nto tax brackets — which means they | : 1 :
| vaT s paygble to the goverrment by a pay this much each month from their salary I s
[ Il I $1.40 I
busress nthe UAVOT £ 207 and | 4 I £1 B 2L |
I added tO items that are bOU@ht | . Taxable Income 7 Tax Rate I
| I £1250110£50000 |  20% | I I
I Il £50001t0 £150000 |  40% I | x 200 x 200 I
: Essential tems such as food do not : :  over £150000 45% | : A4 v :
nchde VAT, Over time: I
| 11 T and bl — mears 15 tes ther hourly rate | | £200 > £280 |
| I T oot — 2 times thew hourly rate I I x1.4 I
(L S U N Ly I e e e — | |
e e I I
L it Dvini I} When making estimates it 1s also useful to use estimates to
| ‘UYMQ To cakculate unt per cost you dide by : : check if our solution s reasonable :
Il 4 Oranges 5 cupcakes the cost | I
| I
£1 £1.20 I '
: Copokes e the. best vake, ds ore : | Use nverse operations to reverse the exchange process |
- tem has the cheapest vale | |
| 4 = £1.00 D+ 2 5=£1.20 : | | Common Currencies |
I 2 =£050 +5 : [| Unted Kingdom £ Pounds I
I . There s a drectly proportiondl |l United States of Omenca N Dolars |
: - £0'25 1 = £0.20 relationship between the cost and | I| Europe £ Euros |
, . | |
[ I



